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Solve each system of equations by using substitution.

Loacty=4 2.5-3=9
w2y =1 x+2y=-1

4.9 46 = 5.9m+n=6
“a+2= Bm +6n=1

7.u—2u:% 8.x—3y =16
—u+2=5 m-y=9

Solve each system of equations by using elimination.

10.2r+s=5 1.2m —n=-1
3r—s=20 3m + 2n = 30

18.3 - k=10 4.2 -y=—4
4-k=16 4t 2 =6

16.2t + 40 =6 17.3c - 2y = 12
—t-2=-3

Zz+§_'y:14
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Solve each system of equations by using either substitution or elimination.

19,86+ 3y = -5 20. 8¢ — 157 = —40 218 - 4y =12
10x + 6y = —13 4q + 2r = 56 -b-t

22.4b - 24 =5 2.s+3y=4 24.4m —2p =0
“ob+d=1 s=1 “3m+9p =5

25.5¢ + 4k = 10 26.055+2 =5 2.h-2=3

—3g~5k=17 x-2=-8 ~8h+32=6








